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Presenter
Presentation Notes
Hello and welcome to this webinar on Calculating Capital for Sole Trader accounts.
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Presenter
Presentation Notes
I’m going to start by just going over a few bits of background information, the theory if you like, so that we understand why we keep the accounts in the way that we do.  

We’ll gain a bit of background knowledge of sole traders before looking at capital that is invested and employed in the business, seeing how that fits into the accounting equation.  We will discuss profit and drawings before calculating the closing capital.  During this section we will look at the scenario that was sent to you in the invitation to the webinar and by then you will be able to answer the question. 

Finally, we will look at how this fits into the Statement of Financial Position and how we can use that to calculate missing figures.

First of all, lets think about sole traders. You will have heard of limited liability companies and partnerships as well as companies listed on the stock exchange but, since we are going to calculate the capital for them, today we are only going to think about sole traders. So what is a sole trader?




What is a Sole Trader?

» Usually small businesses
 The owners could be working on their own
» They could employ other people

 The simplest and most common type of business
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Presenter
Presentation Notes
Many people start a business without really understanding the different types of businesses available to them, often they don’t think so much about starting a business, rather, they think about working for themselves, being self-employed. [click] It is not uncommon for someone who has been made redundant to start doing self employed work that builds into a good sized business.  Particularly accountants, although they at least know what they are doing! With the growth of the internet, it has become more common for people to have small businesses selling goods or services online as well as doing their normal day job. Sometimes these part time evening jobs become large enough to support the owner and at other times they are simply a kind of hobby that makes some money.

A sole trader may work on their own as simply a self employed person, [click]  but it is perfectly possible that their business will expand and other people are employed. [click]  Often as a business grows it is likely to be changed into a limited liability company but this is not strictly necessary.   The main thing is that we mustn’t assume that the sole trader is on their own.

So [click] the Sole Trader is the simplest and most common type of business.


Sole Traders

« Sole traders and their owners are one legal entity
« But two economic entities; we keep their accounts separate

 The company belongs to the owner who is responsible for its assets and
liabilities

« The company may be registered for VAT but the owner cannot claim back
VAT for personal purchases or costs

—
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Presenter
Presentation Notes
Legally, the sole trader and their company are regarded as one entity [click] , all the assets, liabilities and profits belong to the owner and he or she completes a tax return each year to declare the profit or loss and pay any tax due.  However for the purposes of keeping the accounts, the owner and the business are different economic entities [click] .  There is no need for you to worry about this distinction, although it is important, all you need to know is that for practical purposes it means that we keep all the business expenditure separate from personal expenditure – which is really important when thinking about capital and drawings. [click] 

It also means that if the company is VAT registered, and Sole Traders are often VAT registered, the owner can claim VAT back on business expenses [click] but cannot claim back VAT on any items bought for personal use and this is also really important to remember when we talk about drawings.

So now that we have established what a sole trader is and the need to keep their business financial information separate from their personal financial information, lets think about Capital.


Capital Invested

Debit Bank Credit

0lJan  Capital 10,000 |

Debit Capital Credit
|01Jan  Bank 10,000

—
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Presenter
Presentation Notes
When you had your first double entry bookkeeping lesson, I expect that you started by putting owners capital into the accounts by debiting the bank [click] and crediting capital. [click]  This was the money invested by the owner into their new business.

Recording the capital like this conforms to the dual effect of double entry and keeps a record of a) how much cash we have and b) how much the business owes to the owner.  Remember that although the sole trader and their business are one legal entity, we record their accounts as two economic entities and the business effectively owes the owner the £10,000 that the owner has put into the business.

Capital is not just cash, you probably also learned that if the owner puts, say a car, into the business then it is also recorded against capital like this.






Capital Invested

Debit Bank Credit

01Jan  Capital 10,000 |

Debit Capital Credit
|01Jan  Bank 10,000
‘01 Jan Motor Vehicles 5,000

Debit Motor Vehicles Credit

0lJan  Capital 5,000 |

—
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Presenter
Presentation Notes
So the owner has invested both cash and other assets into the business and this is all recorded together in the capital account.  The owner, let’s call her Felicity, has put £15,000 worth of capital into her new business.

When you learned this double entry, you probably also learned about the accounting equation, so lets look at that now to see how capital fits in to this fundamental equation.



The Accounting Equation

« Assets - Liabilities = Capital
 (£10,000 + £5,000) — 0 = £15,000

« (£10,000 + £5,000 + £500) — £500 = £15,000

» Profit = Revenue — Expenses

« Add profit to Capital

e
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Presenter
Presentation Notes
Like any equation, the accounting equation can be shown in different formats but because we are talking about Capital, today I want to look at it like this; [click] Assets – Liabilities = Capital.

In the previous slide, Felicity had assets of £10,000 + £5,000 [click] , no liabilities and Capital of £15,000
Of course, if, or when, Felicity borrowed money or bought goods on credit, the assets and liabilities would change.

Lets say that Felicity bought goods on credit worth £500. [click] The capital doesn’t change but the assets and liabilities both increase.

But where do expenses and revenues fit in?  Hopefully when Felicity sell the goods, she will sell them for a profit.  She might have to pay some expenses but the revenue minus the expenses = profit. [click] Remember that we said that all the profit belongs to the owner?  And that we record the amount owed by the business to the owner, Felicity, in the capital account?  That means that we add any profit made to the capital of the business [click] and so the accounting equation continues to work.

Mind you, it could become quite messy if we calculated the profit or loss each day and entered it into the capital account, so we only do this at the end of each period, usually for a sole trader, at the end of their financial year.  If we wanted to calculate the capital at any given time, all we need do is, simply add up the assets and deduct the liabilities.



. Poll 1
I

Jonas has £4,500 in the bank, inventories worth £2,569, Receivables of £560,
Payables of £700 and a loan for £1,400. His capital is:

a. £4,409
b. £5,529
c. £6,929
d. £9,729
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Presenter
Presentation Notes
Lets have a quick poll to test our application of the accounting equation, Jonas has been in business for a couple of years and needs to do a quick calculation of his capital.  He has £4,500 in the bank, inventories worth £2,569, Receivables of £560, Payables of £700 and a loan for £1,400.  What do you think his capital is?



Poll 1 Answer

Jonas has £4,500 in the bank, inventories worth £2,569, Receivables of £560,
Payables of £700 and a loan for £1,400. His capital is:

a. £4,409
b. £5,529
c. £6,929
d. £9,729
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Presenter
Presentation Notes
Well done to those of you who got it right.  The money in the bank, the inventories (or stock) and the receivables (that’s the amount owed to us by customers) are all assets and total £7,629.

The payables (that’s the amount we owe to suppliers) and the bank loan are liabilities and total £2,100

7,629 – 2,100 = £5,529


Capital Employed

Two main elements
* Resources invested by the owner into the business
* Resources left in the business by the owner
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Presenter
Presentation Notes
So, to bring us back to what we were saying, the capital in the business has two main elements, the resources invested into the business by the owner and the resources (or profit) left in the business by the owner.  Each year we calculate the profit and add it to the capital, losses are deducted.




- Profit
Debit Capital Credit
|01Jan  Bank 10,000
‘ 01 Jan Motor Vehicles 5,000

Revenue: £40,520
Expenses: £27,270
Profit: £13,250

—
—
AAT is a registered charity. No. 1050724 a a L


Presenter
Presentation Notes
Lets look at that in practical terms.  In our example, Felicity had capital invested of £15,000.  Lets suppose that at the end of her first year of trading Felicity had revenues of 40,520 [click] and expenses of £27,270 [click] .  Felicity wrote out her Statement of Profit or Loss which showed a profit of…  you calculate it…. See who can type it in first…. [click]  £13,250.  

At this stage all revenue and expenses for the year are posted to the Profit or Loss account and the balance of that account is posted to the capital account, like this:  



- Profit
Debit Capital Credit
0l1Jan Bank 10,000
01 Jan Motor Vehicles 5,000
31 Dec  Profit 13,250

Revenue: £40,520
Expenses: £27,270
Profit: £13,250

_—
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Presenter
Presentation Notes
You can see that the profit is credited to capital because the profit belongs to the owner and not to the business, the business owes the profit to the owner.

Lets take a step back for a moment and look at how we would post a loss.


- Profit
Debit Capital Credit
|01Jan  Bank 10,000
‘ 01 Jan Motor Vehicles 5,000

—
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Presenter
Presentation Notes
We’ve gone back to show only the capital invested.  If Felicity had made a loss of, say £4,000 instead of her profit.  The loss would be entered into the Capital account on the debit side like this.



- Profit
Debit Capital Credit
31 Dec  Loss 4,000 ‘ 01 Jan Bank 10,000

‘ 01 Jan Motor Vehicles 5,000
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Presenter
Presentation Notes
Because Felicity is responsible for the losses as well as taking the profit, any loss will reduce the capital that is employed in the business.  Felicity will not get all of her investment back if she closed the business now.

Ok, lets go back to the profit situation.


- Profit
Debit Capital Credit
0l1Jan Bank 10,000
01 Jan Motor Vehicles 5,000
31 Dec  Profit 13,250
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Presenter
Presentation Notes
Knowing that she is making a profit, Felicity is likely to have taken some money out of the business during the year.  As I’m sure that you know, this is known as drawings.  During the year we record Drawings in a separate account, adding it up in the same way as we do revenue and expenses, ready to be calculated and posted to Capital at the end of the year.

Lets look at a Drawings account.


Drawings

Debit Drawings Credit

1 Dec Bal b/d

_—
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Presenter
Presentation Notes
Lets suppose that Felicity has been taking £500 in cash each month in drawings.  At the 1st of December, how much will Felicity have taken out of the business?  Type your answer in.




- Drawings
Debit Drawings Credit
1 Dec Bal b/d 5,500

—
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Presenter
Presentation Notes
Yes, that’s right, Felicity will have taken 500 x 11 = £5,500. Well done.

In December Felicity is planning to take another £500 and has bought some goods for her business but decided to use some of them herself.



- Drawings
Debit Drawings Credit
1 Dec Bal b/d 5,500
31 Dec Bank 500
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Presenter
Presentation Notes
We will post the £500 cash taken to the Drawings account, crediting the bank, that’s easy.  But what about the goods that Felicity plans to take?






Buying goods

Debit Bank Credit

R S S ™ S N

15 Dec Purchases

Debit Purchases Credit

N S S S N

15 Dec Bank

Debit Credit

—

15 Dec Bank

—
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Presenter
Presentation Notes
When Felicity bought the goods, assuming that she is VAT registered, she would post the purchase to the accounts.  [click] If she bought goods for £840, how much will be posted into Purchases?

Yes, that’s right, £700. [click] 

VAT?

Good, £140 [click] 

Felicity is taking goods worth £200 + VAT from the business for her personal use, how should we account for them.  

Now, remember that we keep all the business expenditure separate from personal expenditure because while the sole trader and his/her business are the same legal entity, they are separate economic entities?

That means that when Felicity takes goods out of the business, she must remove the value from the business as if she were taking cash, so we must post to the drawings account.  Lets look at the drawings account again.



Drawing goods

Debit Drawings Credit
1 Dec Bal b/d 5,500
31 Dec Bank 500
Debit Purchases Credit

Due locale L Dae o Lo

15 Dec Bank
Debit Credit

e Detals | E o Dae (Deals
15 Dec Bank ‘
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Presenter
Presentation Notes
We are taking goods that we purchased for the company so we will be using the purchases account [click]

Remember that we also said that the owner can claim VAT back on business expenses but cannot claim back VAT on any items bought for personal use? 

Felicity will also have to account for the VAT [click] that the business will not be able to reclaim for the goods that she has taken, so we will..


Drawing goods

Debit Drawings Credit

1 Dec Bal b/d 5,500

31 Dec Bank 500

Debit Purchases Credit
LT T N T

15 Dec Bank 700 ‘ 31 Dec  Drawings

Debit Credit
LT R N S

15Dec  Bank 140 |31 Dec  Drawings

aat
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Presenter
Presentation Notes

Cr Purchases £200, Cr VAT £40


Drawing goods

Debit Drawings Credit

1 Dec Bal b/d 5,500

31 Dec Bank 500

31 Dec Purchases 240

Debit Purchases Credit
LT T N T

15 Dec Bank 700 ‘ 31 Dec Drawings

Debit Credit
LT R N S

15Dec  Bank 140 |31 Dec  Drawings

aat
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Presenter
Presentation Notes

Dr Drawings £240

And there we are, we have entered all of Felicity’s drawings for the year.

Now, when we emailed you we asked a question and said that we would give you the answer in the webinar?  Hopefully you can answer the question now so lets put it up as a poll.


- Poll 2
I

Adewale Babatunde runs his own business developing web sites for local
businesses. He recently purchased additional on-line storage space for his
clients and allocated 5% for his own personal, non business use. What do you
think the double entry should be to record this? Adewale is VAT registered.

a. We don’t need to account for them, it is his business

b. We will Dr Drawings and Cr Payables (which includes the VAT)
c. We will Dr Drawings and Cr Purchases

d. We will Dr Drawings and Cr Purchases and VAT
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Presenter
Presentation Notes
Lets see which answer is correct.

Answer a is obviously incorrect, although Ade owns the business he is a separate economic entity and the accounts of the business must be kept separate from that of Ade’s personal finances.

Answer b would get us into all sorts of trouble because crediting payables would increase the amount owed to suppliers but who would we pay!  

If Ade were not VAT registered then answer c would be correct as the total value of the goods would have been posted to purchases, however we have said that Ade is VAT registered.

so answer d must be the correct one.

Although the purchase is storage space, Ade will be selling the storage space onto his customers which is why the purchases account is the correct account here.

Well done to those of you who got it correct.

Now, back to Felicity.


Drawing goods

Debit Drawings Credit

1 Dec Bal b/d 5,500|31 Dec Capital 6,240
31 Dec Bank 500
31 Dec Purchases 240

6,240 6,240

Debit Capital Credit

31 Dec Drawings 6,240 | 01 Jan Bank 10,000

01 Jan  Motor Vehicles 5,000

31 Dec  Profit 13,250
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Presenter
Presentation Notes

Here is Felicity’s drawings account again balanced off and ready to transfer to the Capital account. [click]  You see that we have cleared all the drawings out into the Capital account.


Closing Capital

Debit Capital Credit
31 Dec Drawings 6,240 | 01 Jan Bank 10,000
31 Dec Balance c/d 22,010 | 01 Jan Motor Vehicles 5,000
31 Dec  Profit 13,250

28,250 28,250

_—
—
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Presenter
Presentation Notes

Finally we can balance off the capital account at the end of the year.  We have accounted for the capital invested into the business by Felicity, cash and a motor vehicle, accounted for the profit made by the business and deducted the drawings taken by Felicity as both cash and goods.

The new total reflects both the capital invested by Felicity and the funds left in the business by Felicity.

On the 1 Jan of Felicity’s second year of trading, her capital account will show a b/d balance of £22,010 which is the opening capital for the next financial year.


Statement of Financial Position (SFP)

Two main parts
Assets — liabilities calculates net assets
Financed by: The capital

Assets - Liabilities = Capital
Net assets = Capital

—
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Presenter
Presentation Notes
Now lets see how this all fits into the financial statements.  We have already mentioned the statement of profit or loss which Felicity would use to calculate how much profit that she made.  The other financial statement that links to Capital is the Statement of Financial Position or SFP.

For the Sole Trader, the SFP, sometimes known as the balance sheet, follows the accounting equation.  It divides into two sections [click].  The first section [click] lists the assets and the liabilities, calculating what is known as the net assets.

The second part is headed ‘Financed by’ [click] and shows the capital in the business.

Over the course of your studies, you will see different layouts but they all list the same information, just in different orders depending on what information is important.

What is key, is that the final figure of the first section, the net asset figure, equals the closing capital.  The statement balances just like the accounting equation that we looked at earlier [click, click].


Statement of Financial Position (SFP)

Financed by:

Opening Capital 15,000
Profit 13,250
Less Drawings (6,240)
Closing Capital 22,010

aat
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Presenter
Presentation Notes
This is the second part of the SFP as it would have been for Felicity’s first year of trading.  When we lay it out like this, we can see that if one of the figures is missing then we can calculate it using the others.  So for example if we did not know how much Felicity had taken in drawings, we could use the other three figures to calculate it as a missing figure.

Earlier we calculated the capital for Jonas by adding up his assets and deducting his liabilities.


Statement of Financial Position (SFP)

Jonas has £4,500 in the bank, inventories worth £2,569, Receivables of £560,
Payables of £700 and a loan for £1,400. His capital is:

£5,529
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Presenter
Presentation Notes
Lets suppose that Jonas has not kept very good records.  We can see from his bank statements that his cash drawings were £2,000 and he says that he didn’t take any drawings apart from cash.

We would also know his opening capital from the previous year’s statements and we have his closing capital that we calculated earlier using the accounting equation.  How much profit did he make in the period?


. Poll 3
I

Jonas’s closing capital is £5,529, his drawings were £2,000 and his opening
capital was £6128. What was his profit?

a. £1,401
b. £3,529
c. £4,128
d. £7,529

AAT is a registered charity. No. 1050724



Statement of Financial Position (SFP)

Jonas’s closing capital is £5,529, his drawings were £2,000 and his opening
capital was £6128. What was his profit?

Financed by:

Opening Capital 6,128
Profit ?
Less Drawings (2,000)
Closing Capital 5,529
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Presenter
Presentation Notes
Lets draw up the Financed by section of the SFP and fill in the numbers.  To calculate the profit, take the closing capital, add the drawings and deduct the opening capital.


Statement of Financial Position (SFP)

Jonas’s closing capital is £5,529, his drawings were £2,000 and his opening
capital was £6128. What was his profit?

Financed by:

Opening Capital 6,128
Profit 1,401
Less Drawings (2,000)
Closing Capital 5,529

e
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Presenter
Presentation Notes
So we can calculate the profit to be answer a.  £1,401

When you calculate a missing figure, always put it in and check that it is correct, in this case by adding our calculated profit to the opening capital and deducting the drawings to check that you get the closing capital figure.  If you don’t then you have made a mistake and if you do then you can feel confident that you have got it right.

Well done to those of you who got the answer correct.  L3 Final Accounts Preparation has many examples of incomplete records where the accountant has to use their knowledge of accounts to calculate missing figures, often following a trail to get to the right answer.  Make sure that in all units of your bookkeeping courses you are very familiar with the theory and the practice so that you are ready to problem solve in this last unit of the Bookkeeping qualifications.


Conclusion

« Sole traders must keep their personal and business accounting records
separate

« Capital takes the form of cash and goods invested and retained profits (or
losses)

« Drawings take the form of cash and goods and VAT must not be reclaimed
from HMRC on any goods drawn

* We can calculate capital by using the accounting equation

« We can use our knowledge of accounts to calculate missing figures where
records are incomplete.
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Presenter
Presentation Notes
So just to recap, The Sole Trader is the most common form of business and while the owner and their business are one legal entity, [click] they are two economic entities meaning that we have to keep their business accounting records separate from personal records.  

Capital is both the investment that the owner has put into the business and the funds that the owner has left in the business. [click] Invested capital can take the form of cash or goods and drawings can also take the form of cash or goods [click] (ensuring that VAT is not reclaimed from HMRC on any goods drawn) 

We have learned that we can calculate capital by using the accounting equation [click] and that the statement of financial position follows the accounting equation meaning that if we have incomplete records, [click] we can use our knowledge to calculate missing figures.

I hope that you have found this webinar helpful and please, do send in any questions that you have.  


-
Thank you
m y

Association of Accounting Technicians
140 Aldersgate Street

London

EC1A 4HY
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